ZEf2| 4l2iH

2.2 & mL|AH SHE EI(FRC Series)

-GS U MEoR =2 L3

- M2 FASE DHE YR AY MY
e UAHL L= AT MEf AR

< 24E ZH J|s B3

cRAY QE AR BE b5

o

>
H
>
oz
i3

F

2l
SIS [01HE g 10 T 274
D [OIaHE WE 15 S vt
20
_ 80 L ma oran
EY R ELEE]
B |3 it 83
84 m B3N 2
S [H= 90 | 90°
TRETE 18 | 180
*YEY Ay BE 29

FINE AUTOMATION

102




FRC Series

FRC-10 - FRC-15 - FRC-20 - FRC-30

| | PR
=] FRC-10 FRC-15 FRC-20 FRC-30
A2IHZE(mm) 10 13 18 20
S|XZIE Ol XXEHO 90" +10°
s e el 180° +10°
2 zy g€ 2% EEE;
- & Qi SA 2 st
0|2 E23(kgtcm) (Bkgt/cm?)7|& 3 73 122 283
52 ofjuix| AN 2E =3t 0.002375 0.0038 0.2375 0.456
(kgt-cm) & OLAH} BR} 0.0031 12 122 255
2t M& M5 R1/8
2y =2 90 120 220 650 960
(@ 180° 150 270 750 1,100
Z|ch 2o|c|Y akS(kgf) 15 2 5 8
2|0 ERAE 315 (kgf) 16 2 5 10
3|8 AlZKsec) I3 EE 2% 0.2~0.7 0.2~
90" 7IE £ QfaHE BE 0.2~0.5 0.2~0.7
AE S| 27|
A2 E(kgf/cm?2) 1.5~7.1
A =8 =Ze
Mg 2=(C) 5~60
Iz uy ED
B z=

4 _
&

2] T NP4
RIS

FINE AUTOMATION

103

=
o

Hu
0%
=
A
L=
d]

[1) HiC| U205 B2 YZ00[E
(2) Fei-%t AZ0|E F | YRONE
(3] -2 U205 BF | YROO|E
@ | AMNEE 7} U205 B2 UZ0M0|E
[5) DAE AHQIYAZL

(6} AMEZE AERIAZ or EtAZ

@ 2A=EEE Etazt

(8] A QpAF NBR

(9] HE EtA

® e SYE

®| ofadE KHARH

® LGE] 2K

® | DAE Y NBR

(1) 2y g NBR

® LGES iz

® =E Etazt

@ EE EtAZ




ZEf2| 4l2iH

Bl FRC-10 oI X|4&

(Max8) 58(180° : 72)
28.5(180°:35.5)
Q%
02 N\
5 | B\
- &
: e d 7 —
< all £Z m ~
f
[
u_ H
#12(h9)
4.5 #5(h6)
2-M5x0.8
gl N (AR PORT)
N
I ! @ I

S

2 \ 2-M5 (15.5)

17

|
&

-——-
&

@ 3(H9)DP2

E&
E&

@
3(H9)DP2

pin

154 0.6

=EIYN
SHOCK ABSORBER £&HA| 0)

e

M8x0.75 /

e

FINE AUTOMATION

104




BB FrC-15 2E X4

FRC Series

FRC-10 - FRC-15 - FRC-20 - FRC-30

(Max8) 66(180° :84)
33(180°:42)
©
ol
m,;_
2
. i A | B
§ SN ®
=
18
2-M5 HE 31
@ 14(h9)
5.5 ?6(h6)
2-M5x0.8
il 21 (AR PORT)
<
N A EENE N i
(\SS/ARN) Hie @ @)
31 \Z—MS (225)
2-98 DP4.2
@ 3(H9)DP2
&
2
ﬂ 2
AN 2R e
ﬂ NZht %
i
X
176 |06
@)

o= .
B

.2

FINE AUTOMATION

105




ZEf2| 4l2iH

Bl FRC-20 oI X|3E

(Max10) 104(180° :124)

| (29.5)

—

o f
\&:
64

0 25(h9)
#10(h6)

=] | 4 78,03
\ o

2R 1/8
(AR PORT)

20

T Bogdd
© Vo)

30
50 2-M8 HE 64

2-¢11 DP6.5

25

©

O

2

e
59.5

AV

@ 4(HO)DP2.5

Fosy
o
@/
)
¢
4(H9)DP2.5

. -3
[135]
27 1
SHOCK ABSORBER £ HA|
(36)
E,, |
VPV W
Va
M%{@M
. -3

FINE AUTOMATION

106




BB FRrRC-30 28 X|2E

FRC Series

FRC-10 - FRC-15 - FRC-20 - FRC-30

(Max12) 122(180° :136)
)
2 5
,7,% @/%n@ 70@
~ @
> RO ) s o o
3 AN | j/@“q% g R
g R
49
4-M5 DP10 68 2-M10 TE 2.30(h9)
#12(h6)
135 48w
_ v 2R1/8
l (AR PORT)
| - §
| T  —
T T 8 J@L
ﬁﬂ-i —1 = D & / ?
4] ne ‘®
2-M10 THE 30
# 4(H9)DP2.5 38 2 2-¢14 DP85
- N
2
T @ 2
@ O-Tor=—
=N P
Hi @
—
| e
% 4-M5x0.8 DP6 49

SHOCK ABSORBER £2tA|

(33)

FINE AUTOMATION

107




